2]
o
=
-
=
L

BRASS COMPRESSION FITTINGS

0105 MALE STUD TUBEO.D.MM  THREAD PART No. 0106 EQUAL TUBE 0.D. MM PART No.
COUPLING, BSP SIZE INCH ENDED STRAIGHT 1 B0
TAPER THREAD COUPLING -
; s o0 ; B4
: 5 R1/4 BFM3-0504 ~ > 6 r4 09
Vi - e, ™ 8 BFM4-08
le NG 6 R1/8 BFM3-0602 i/
NG I BFM3-0604 — > S
g Ry 6 R1 12 BFM4-12
&5 6 R3/8 BFM3-0606
S 8 R1/8 BFM3-0802 0102 EQUAL ELBOW TUBE 0.D. MM PART No.
8 R1/4 BFM3-0804 1 BFM110
8 R3/8 BFM3-0806 -
P 6 BFM11-06
10 R1/8 BFM3-1002 g Y
8 BFM11-08
10 R1/4 BFM3-1004 4 . m BEM11-10
10 R3/8 BFM3-1006 L ) " BEM1112
10 R1/2 BFM3-1008
12 R1/4 BFM3-1204 0103 MALE STUD TuBEO.D.MM  THREAD PART No.
12 R3/8 BFM3-1206 RUN TEE, BSP TAPER SIZEINCH
12 R1/2 BFM3-1208 THREAD 4 R1/8 BFM13-0402
6 R1/8 BFM13-0602
0109 MALE STUD THREAD -
esow, esparen | TR OD.MM e PART No. £3 5 " BEMI13.0604
8 R1/8 BFM13-0802
THREAD 4 R1/8 BFMS-0402 J‘? 8 R1;4 BFM13-0804
4 R1/4 BFM5-0404 o
o Tt 8 R3/8 BFM13-0806
, 5 R1/8 BFM5-0502 ; .
e /4 . f 10 R4 | BFM13-1004
f}" -3 J L, BFMS-0504 ~ % 10 R3/8 BFM13-1006
o = R1 BFM5-0602
5 @/ 6 /8 >060 12 R3/8 | BFM13-1206
6 R1/4 BFM5-0604
8 R1/8 BFM5-0802 0116 BULKHEAD TUBE 0.D. MM PART No.
8 R1/4 BFM5-0804 COUPLING ; BF 3104
8 R3/8 BFM5-0806 A BEV3 1'0 .
10 R1/4 BFM5-1004 i g BFM31-08
10 R3/8 BFM5-1006 -~ 0 BEV31.10
10 R1/2 BFM5-1008 ey / 5 BFM31'12
12 R1/4 BFM5-1204 — -
12 R3/8 BFM5-1206 0104 EQUAL TEE TUBE 0.D. MM PART No.
12 R1/2 BFM5-1208
4 BFM14-04
0108 MALESTUD | [ENFRENRYY SIIZ*ERIE;\CDH PART No. = 5 BFM14-05
APERTHRERD &S ¢ s
4 R1/8 BFM12-0402 A . 8 BFM14-08
6 R1/8 BFM12-0602 S = 10 BFM14-10
6 R1/4 BFM12-0604 - 12 BFM14-12
8 R1/8 BFM12-0802
s - BFM12.0802 0124 OLIVE TUBE 0.D. MM PART No.
8 R3/8 BFM12-0806 4 BFM100-04
10 R1/4 BFM12-1004 “> 5 BFM100-05
10 R3/8 BFM12-1006 ﬁ, 3 6 BFM100-06
12 R1/4 BFM12-1204 v, 8 BFM100-08
12 R3/8 BFM12-1206 10 BFM100-10
12 BFM100-12
0114 FEMALESTUD | [T T e PART No.
COUPLING, BSP SIZE INCH 0110 NUT THREAD
PARALLEL THREAD 1 18 BFN10.0202 TUBEOD.MM (0 PART No.
) 4 G1/4 BFM10-0404 4 M8x1 BFM2-04
6 G1/8 BFM10-0602 5 M10x1 BFM2-05
-~ 6 G1/4 BFM10-0604 6 M10x1 BFM2-06
W
*:‘ 8 G1/8 BFM10-0802 8 M12x1 BFM?2-08
8 G1/4 BFM10-0804 10 M16x1.5 BFM2-10
% 8 G3/8 BFM10-0806 12 M18x1.5 BFM2-12
-, 10 G1/4 BFM10-1004
10 G3/8 BFM10-1006
10 G1/2 BFM10-1008
12 G1/4 BFM10-1204
12 G3/8 BFM10-1206
12 G112 BFM10-1208




